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01. (a) 2y = 2.3, ;=3  (b) ottt
2
2
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11. (a) A3k (b) 31.622777 12. Aj=F
13. © —rx=1 = 2 -z-1=0flz)=2—-2—-1 = [f(z)=327 —L.50Cns1 =an —

(a) o1 =122 =10 3=~ 1347826, x4 =~ 1.325200. 6 ~ 1324718 ~ 16
21 = 0.6, 75 = 17.9, 75 = 11946802, 24 ~ T.985520, 25 = 5.356909, v =~ 3.624996. 77 ~ 2.50558
(D) s = 1.820129. 20 = 1461044 210 = 1.339323. a1 = 1321913, 212 & 1.324718 = 713

x1 = 0.57. 22 =~ —54.165455. x3 == —36.114293, x4 ~ —24.082094. x5 =~ —16.063387. xg ~ —10.721483,

x7 &~ —T7.165534. xs =~ —4.801704. xo == —3.233425. z10 &~ —2.193674. x11 ~ —1.496867. x12 = —0.997546.

r13 & —0.496305. 114 = —2.894162. 215 ~ —1.967TY62. r16 =2 —1.341355. 17 = —0.870187. r15 &~ —0.249949,

x10 =2 —1.192219. 20¢ =~ —0.731952, 227 =2 0.355213, xaa = —1.753322. w23z =~ —1.189420, a4 =~ —0.729123.
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x31 =~ —0.654291. w30 ~ 1.547010, x33 ~ 1.360051. x34 ~ 1.325828. x3s =~ 1.324719, x35 =~ 1.324718 =~ z37.

From the figure. we see that the tangent line corresponding to 21 = 1 results

( el in a sequence of approximations that converges quite quickly (x5 =~ xg).
-1 037, P81 / / 3 The tangent line corresponding to 1 = 0.6 is close to being horizontal. so
/-\ %=l x5 1s quite far from the root. But the sequence still converges — just a little
=057 N more slowly (12 = x13). Lastly. the tangent line corresponding to
( d) k\ oo s / J a1 = 0.57 1s very nearly horizontal, 2 is farther away from the root. and

the sequence takes more iterations to converge (zsg ~ Tar).

3
1/3
Bl =& — ;}:};’;’) =Bn— 1?1/2/3 =Tn — 3Tn = —2Tn.
3T
Therefore. each successive approximation becomes twice as large as the =3 - = 3
previous one in absolute value. so the sequence of approximations fails to o
14 converge to the root. which is 0. In the figure. we have 21 = 0.5, =
T ga=-2(05)=—landrs = —2(—1) =2,
15. (1.519855, 2.306964 ) 16. 0.76286 %
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07. (0, 0)OA] F(z)= %:1:2—33—1/1/2 e
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